1/4" X 5/8"

TOP FIXTURE SELF-TAPPING TOP FIXTURE ] Lat X S/e
SEE DETAIL ON SCREW (3) PER TOP EEEEDTE:’T,A”- ON EE;F:E'J\,A(Z')D'NG =
SHEET 3 FIXTURE cenrensnie  PERSTILE
ROLLER KEEPER 055 MIN
— SEE DETAIL ON ~ ‘ / Aw
o) | ﬁ SHEET 3 ()¢ CENTER HINGE
o o | N | |  SEE DETAIL ON
" \ |  SHEET3
o o o) (o
| ROLLER , o ROLLER KEEPER 1/4" X 5/8" SELF-TAPPING . E
SEE DETAIL ON SEE DETAIL ON SCREW (4) PER CENTER 4-12 -
SHEET 3 SHEET 3 L HINGE

TOP FIXTURE MOUNTING DETAIL
DOUBLE END STILE

TOP FIXTURE NOTES:

TOP FIXTURE MOUNTING DETAIL
DOUBLE END STILE

EITHER TYPE MAY BE USED, TYPED DETERMINED BY DOOR HEIGHT AND OR DOOR WEIGHT
DOUBLE END STILES REQUIRED ON DOORS OVER 16'-2" WIDE

ROLLER

SHEET 3

EDGE HINGE MOUNTING DETAIL
DOUBLE END STILES REQUIRED
ON DOORS OVER 16'-2" WIDE

1/4" X 5/8" SELF-TAPPING
SCREW (4) PER
EDGE HINGE

SINGLE END STILE .055 MIN
DOUBLE END STILE .055 MIN

EDGE HINGE SEE
DETAIL ON SHEET 3

ROLLER KEEPER

SEE DETAIL ON
SHEET 3

SEE DETAIL ON

CENTER HINGE MOUNTING DETAIL

BOX STRUTMOUNTING DETAIL

20 GA (.035 MIN)
80 KSI MIN TENSILE STEEL
(1) PER SECTION

[ \ 24" x 8 WINDOW DSB OR TEMPERED
/ﬁ/; GLASS, 1/8" MINIMUM THICKNESS
[ | EPDM GASKET. WINDOWS MAY BE
| | LOCATED IN INTERMEDIATE
\ | SECTIONS ONLY.

OPTIONAL WINDOW DETAIL

DOUBLE END STILE .055 MIN \.

1/4" X 5/8" SELF-TAPPING
SCREW (4) PER CORNER

T T T T

u# = = =y =y %«
n n
DOUBLE END STILES B-B SINGLE END STILES STANDARD
STANDARD ON DOORS INSULATION AND BACK ON DOORS 16' - 2 " WIDE AND
OVER 16'-2 " WIDE COVERS (OPTIONAL) SMALLER
-,

BOX STRUT
(1) PER SECTION

DOOR HEIGHT
24' - 0" MAXIMUM HEIGHT

USINIG 20" OR 24" SECTION HEIGHTS

iy
ot R0,

~, ' \ -
S,/ Nooosseao T
=g * =
=R\ SEOF 4 =
200 o o S
s \~~ L 'O’ NN

%, SIONAL Eo
\
i\

Scott A. Brown P.E.
F.P.E #65940
698 Timber Creek Road
Dixon lllinois 61021

8'-0" HIGH SHOWN

DOWN DURING A HIGH
WIND EVENT BY EITHER
LOCKS OR ELECTRIC

LOCKS (OPTIONAL)
DOOR MUST BE LOC@E

TROLLEY TYPE OPERATOR

.

=

SECTION THICKNESS = 2" ,_ll\
////// X

SKIN THICKNESS
STEELFORM BASIC

26 GA (.017 MIN)

STEELFORM STANDARD

24 GA (.023 MIN)

STEELFORM OPTIMA

20 GA (.035 MIN)

SINGLE END STILE .055 MIN

1/2" DEEP
REINFORCING RIB |

i

e

1L —

(2) PER SECTION

BRACKET

ROLLER KEEPER
SEE DETAIL ON
SHEET 3

——

f § % .

B [ e e e | |~

A
s j

<>
<>
<>
<>

T

<>
<p>
<>
<>

Digitally signed by Scott
A Brown, PE

Date: 2017-10-09 17:22:
36

DOOR WIDTH - A

20'- 2" MAXIMUM WIDTH
18'-2" WIDE SHOWN, SEE SHEET 2
FOR OTHER DOOR WIDTHS
TRACK AND COUNTER BALANCE ASSEMBLIES
WERE OMITTED FROM ALL DETAILS ON THIS
PAGE FOR CLARITY. SEE SHEET 2 FOR TRACK AND COUNTER BALANCE DETAILS

pe——

SHEET 3

N o [ L [ L [

&
@) m—

"A-A"

\(\ o
\
ROLLER ‘A’/’:}

SEE DETAIL ON

SECTION DETAIL

CORNER BRACKET
SEE DETAIL ON
SHEET 3

— ]

=%

CORNER BRACKET MOUNTING DETAIL

DOUBLE END STILES REQUIRED
ON DOORS OVER 16'-2" WIDE

DOORS TESTED PER
ANSI/DASMA 108
FOR STATIC AIR PRESSURE

scALE: NONE

DRAWN BY: G.WEDEKIND

1) WAS RICHARD A BAUMANN, P.E, 2) UPDATED JAMB
ATTACHMENTS

7804.01

10/02/17

CHECKED BY: GW

A RELEASE FOR PRODUCTION

6338.01

03/12/12

DATE: 03/12/12

REV. DESCRIPTION

ECN. NO.

DATE

ECN.NO.: 6338.01

DOOR WIDTH | DESIGN LOAD
8'-2" +478 | -54.7
9 -2" +421 | -476
10' - 2" +372 | -421
11'-2" +310 | -377
12'-2" +30.7 | -341
13'-2" +28.0 | -31.2
14' - 2" +251 | -287
15'- 2" +23.6 -26.5
16'-2" +220 | -247
17 -2" +22.6 -28.1
18'- 2" +232 | -307
19'- 2" +208 | -27.6
20'-2" +18.8 | -249
e
S@)ﬁ 24 GA, 20 GA.
No. P-2405 | 7 | T




TORSION SPRING

AR
<>
SIS

ASSEMBLY
" /] I
il I
=l ] | s TORSION SPRING | i
/ ]/ N ASSEMBLY T @ :
o\ / L 6'-3"TO9 -2
/ = = P é] il ﬁ
;} F [ 1 1T 1 1T
1 T 1L I
| 1Al 1. 11
‘ %
NORMAL HEADROOM TRACK 9:, 3 T0 10 291
2" TRACK ANGLE MOUNT SHOWN - -
2" TRACK BRACKET MOUNT AVAILABLE é & & e
3" TRACK ANGLE MOUNT AVAILABLE . i i ¢
il 1l 1l 15
TORSION SPRING T T T B
ASSEMBLY %] @} u} p
// : 1 10'-3" TO 12'- 2"
\ﬁ ] /E_I % s @ & 6— e
4 I/ A 1l | ] II N
gl 1 1l 1 14
I | IR 1Al |.|L
é { 2 e] [ B
1o 12'-3" TO 14'- 2"
FRONT MOUNT LOW HEADROOM TRACK 2
2" TRACK ANGLE MOUNT SHOWN L \ @ & ﬁi v
2" TRACK BRACKET MOUNT AVAILABLE LIFT CLEARANCE TRACK VERTICAL LIFT TRACK : | I | I 1 |
3" TRACK ANGLE MOUNT AVAILABLE 2" TRACK ANGLE MOUNT SHOWN 2" TRACK ANGLE MOUNT SHOWN
2" TRACK BRACKET MOUNT AVAILABLE 2" TRACK BRACKET MOUNT AVAILABLE : T { I {
. 3" TRACK ANGLE MOUNT AVAILABLE 3" TRACK ANGLE MOUNT AVAILABLE @ gj 9" :
. / // = % 14'-3" TO 16' - 2"
s 0od / f)
@ I/ @Ié)l ﬁﬂl ﬁ ﬁ ﬁ ’I
el 1 1l 1l 1l
NORMAL HEADROOM
TORSION SPRING
/ ASSEMBLY HORIZONTAL TRACK SHOWN T T T T T [
use LOW HEADROOM, LIFT : gj ej 9, g; .
‘ CLEARANCE AND VERTICAL o o
REAR MOUNT LOW HEADROOM TRACK LIFT TRACK AVAILABLE. I 167371018 -2
2" TRACK ANGLE MOUNT SHOWN for i 9\\ / @% & & & & A
2" TRACK BRACKET MOUNT AVAILABLE § ! R / | I il 1[L il 1 [L |
3" TRACK ANGLE MOUNT AVAILABLE 12" OR 15" | ' il il il il
RADIUS =
/ :l H‘i H‘i @i Hi :
= H D' A
- 18'-3" TO 20' - 2"
I JAMB ANGLE ‘,
.078" GALVANIZED STEEL 44
E) (1) REQ'D PER VERTICAL TRACK CONTINUOUS ANGLE
=9 ATTACH WITH (3) 5/16" X 1-3/4" —
LAG SCREWS I \> TRACK
‘ I SHEET STRIKE PLATE
\\\\“ | ”ll// VERTICAL DOOR HEIGHT I iy 15/8"x 4 1/2"x 086
KT A R, - voon s ; i hedo oo oo
\\ 00 e® a’gﬁ o /// TRACK ASSEMBLY BOLT 13 GA (.086 MIN) GALVANIZED STEEL FOR 2" TRACK D:_ — 5
N ) S\ 86 *s 4, < 5/16" X 3/4" TRACK BOLT WITH Ll _11GA(116 MIN) GALVANIZED STEEL FOR 3" TRACK — — TRACK BOLT/WHIZ NUT
S 7 o= 5/16" WHIZ NUT y 5/16-18 X 3/4"
S ; No 0065940\ . Y = || 5 O (2) PER STRIKE PLATE
o * ? “ :
- ’ * ) — 36" 0.C. (TYP) TRACK 36" O.C. (TYP)
=) e = BRAGKETS ANGLE TO STRUCTURE E TAACK TO ANGLE
=" STATE OF T SEE SHEET 4 FOR SPACING
= (@) '\ & Ry ||
// A * p P\ * \é \\ —| ,/
/// & Se ~L OR\D‘ OO < LL ____[ END STILE — 5/8" MINIMUM
77 'y S/0 NAL © \\\\ 12" || 12"
////” m \\\\\\ 'R L i OPTIONAL INTERIOR
LOCK DETAIL
g
Digitally signed by
TYPICAL TRACK INSTALLATION TYPICAL TRACK INSTALLATION ScALE: NONE TME SPEC, WIND LOAD
Scott A. Brown P.E. Scott A Brown, PE oRAWN BY: G.WEDEKIND EAVNOR STEELFORM 26 GA
F.P.E #65940 Date_ 2017-10-09 BRACKET MOUNT ANGLE MOUNT CHECKED BY: GW GARAGE DOORS 24 GA, 20 GA. ’
698 Timber Creek Road 17:23:41 WOOD JAMBS WOOD, STEEL OR MASONRY — T
Dixon Illinois 61021 ’ ’ JAM BS REV. DESCRIPTION ECN. NO. DATE ECN.NO.: 6338.01 oromi o NO. P-2405 200 4| B




r——— 1.43

- 2.74 —=

0O O
O

[
|
|
| o
:O
|

0O O

@ E:DODD

4.74

SCALE 1:2
CORNER BRACKET
(FOR DOORS OVER 600 LBS)
.116 GALV. STEEL

\/

r2.24ﬁ
[ 0 O
o
8.00
o o
o o
Ls.:u%
SCALE 1:2

Scott A. Brown P.E.
F.P.E #65940

698 Timber Creek Road

Dixon lllinois 61021

CORNER BRACKET
(FOR DOORS UP TO 600 LBS)
.116 GALV. STEEL

=—3.19 ——‘ 1.50 T——

o)
q =)

281 —>
@) d ¢
SCALE 1:2
3" TRACK BRACKET
.116 GALV STEEL
f=—+-4.19 4—‘ 1.50 «T———‘
an)
300 |C—D

™

SCALE 1:2
4" TRACK BRACKET
.116 GALV. STEEL

’<75.194—‘ 1.50T—>'

n

N

(D)
—>o
—

g

o

SCALE 1:2
5" TRACK BRACKET
.116 GALV. STEEL

0
)
S

LZ_%A Lz.za#

SCALE 1:2
LIGHT COMMERICAL TOP FIXTURE
(FOR DOORS 5 SECTIONS HIGH OR LESS)
.086 GALV. STEEL

jusl

&

[im3)
o o

Digitally signed by Scott

A Brown, PE
Date: 2017-10-09 17:25:

07

SCALE 1:2
HEAVY COMMERCIAL TOP FIXTURE
.116 GALV. STEEL

Q
@
/\\LZ.lZ

-—2.75 —=

SCALE: 1:2
CENTER HINGE
.045 GALV. STEEL

SCALE 1:2
EDGE HINGE
.086 GALV.STEEL

=275 —=

SCALE: 1:2
2" TRACK
.055 MIN. GALV. STEEL

[———* 1.50

N

SCALE: 1:2
3" TRACK (OPTIONAL)
.105 GALV. STEEL

9.44

1
@1

.81

SCALE: 1:2
ROLLER CARRIER
.116 GALV. STEEL

ATTACHED TO LIGHT COMMERICIAL TOP FIXTURE

WITH (2) TRACK BOLTS AND WHIZ NUTS

=—2.61 —=t+=—2.55

[0 0]

SCALE 1.2 *J Z-M
LONG STEM HURRICANE

TRACK ROLLER

fe———4.75

@ 1.81

SCALE 1:2
SHORT STEM
TRACK ROLLER

A4

@ .88
.04 ——1%

SCALE: 1:1
RETAINING NUT

+ 5/8"

o)

SCALE 1:
SLIDE LOCK (OPTIONAL)
CASE .086 GALV. STEEL

| 0 0 | 75 x.25 THICKJ

@ .52

TL

SCALE: 1:11
SHEET METAL SCREW

1.43

@ 59—
1/2"ﬂ f=— 1 3/4"
O ‘13:1?:13:133\\'

> )
> H—
s —> S
> > >

.078 GALV. STEEL

3/4"

-

@ 5/16"

SCALE 1:1
TRACK BOLT

SCALE: 1:1
HEX HEAD LAG SCREW

scALE: NONE

TME SPEC, WIND LOAD

DRAWN BY: G.WEDEKIND

RAVYNOR STEELFORM 26 GA,

CHECKED BY: GW

24 GA, 20 GA.
GARAGE DOORS

DATE: 03/12/12

BOX 448EAST RIVER ROAD
DIXON, ILL. 61021

SHEET

No. P-2405

DESCRIPTION ECN. NO. DATE

ECN.NO.: 6338.01

3 oF 4

REV




MASONRY JAMB

STEEL JAMB
STRUCTURAL STEEL BY OTHERS.
3/16" MIN THICKNESS.

2-1/2"

MINIMUM EDGE DISTANCE

2-1/2" EM'BEDMENT

5/16" X 5/8" THREAD CUTTING SCREW —

WITH 5/16" WASHER
ALLOWABLE TENSION LOAD = 1048 LBS
STARTING 8" FROM THE FLOOR, THEN 36" O.C.

OR
5/16-12 X 1" SELF DRILLING SCREW

WITH 5/16" WASHER
ALLOWABLE TENSION LOAD =971 LBS

STARTING 8" FROM THE FLOOR, THEN 36" 0.7
ANGLE MOUNT

ANGLE TURNED IN WITH
SECTION LAPPING THE
JAMB BY 1" MIN.

TRACK ASSEMBLY ATTACHMENT TO STEEL JAMB

2" TRACK ANGLE MOUNT TURNED IN SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

3/8" ITW TRUBOLT

OR
3/8" KWIKBOLT3

VERTICAL TRACK

WOOD OR MASONRY JAMB\

AT
B

WOOD BACK JAMB
SEE JAMB ATTACHMENT DETAIL
FOR ANCHORAGE REQUIREMENTS

3/8" X 1-3/4" HEX HEAD LAG SCREW —/
WITH 3/8" WASHER IN SOUTHERN PINE
ALLOWABLE TENSION LOAD = 655 LBS, (NOTE 6)
STARTING 8" FROM THE FLOOR, THEN 36" O.C.
MAXIMUM SPACING. MAXIMUM SPACING.
OR \ OR

3/8" X 1-3/4" HEX HEAD LAG SCREW
WITH 3/8" WASHER IN SPRUCE, PINE,FIR
ALLOWABLE TENSION LOAD = 482 LBS (NOTE 6)
STARTING 8" FROM THE FLOOR, THEN 27" O.C.

MAXIMUM SPACING /
ANGLE MOUNT

ANGLE TURNED IN WITH
SECTION LAPPING THE
JAMB BY 1" MIN.

MAXIMUM SPACING

VERTICAL TRACK

TRACK ASSEMBLY ATTACHMENT TO WOOD BACK JAMB

2" TRACK ANGLE MOUNT TURNED IN SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

S
f° STATEOF !
-ALORIDE RS

- -

//// S/QNA\_ 6‘\\\\\

////l[ I \\\\\\ Digitally signed by Scott

Scott A. Brown P.E. A Brown, PE
F.P.E #65940 '

698 Trmbor rank Road Date: 2017-10-09 17:26:
Dixon lllinois 61021 54

ALLOWABLE TENSION LOAD = 893 LBS
STARTING 8" FROM THE FLOOR, THEN 36" O.C.

ALLOWABLE TENSION LOAD = 1379
STARTING 8" FROM THE FLOOR, THEN 36" O.C.

WOOD OR MASONRY JAMB\

WOOD BACK JAMB
SEE JAMB ATTACHMENT DETAIL
FOR ANCHORAGE REQUIREMENTS

3/8" X 1-3/4" HEX HEAD LAG SCREW i

WITH 3/8" WASHER IN SOUTHERN PINE
ALLOWABLE TENSION LOAD = 655 LBS (NOTE 6) b |
STARTING 8" FROM THE FLOOR, THEN 36" O.C.

3/8" X 1-3/4" HEX HEAD LAG SCREW

WITH 3/8" WASHER IN SPRUCE, PINE,FIR
ALLOWABLE TENSION LOAD = 482 LBS (NOTE 6)

STARTING 8" FROM THE FLOOR, THEN 27" O.C. /
ANGLE MOUNT

o
|
e
o > o 2500 PSI CONCRETE (MIN)
Q
c p
e 0O
_ \

ANGLE MOUNT / % \
ANGLE TURNED OUT WITH VERTICAL TRACK

SECTION LAPPING THE
JAMB BY 1" MIN.

TRACK ASSEMBLY ATTACHMENT TO MASONRY JAMB

2" TRACK ANGLE MOUNT TURNED OUT SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

=l \

ANGLE TURNED OUT WITH
SECTION LAPPING THE
JAMB BY 1"

TRACK ASSEMBLY ATTACHMENT TO WOOD BACK JAMB

2" TRACK ANGLE MOUNT TURNED OUT SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

VERTICAL TRACK

° DOOR WIND LOAD IS NOT
TRANSFERED TO THIS MEMBER

R 2X6 #2 DOUGLAS FIR OR o
/BETTER WOOD BUCK. SEE

CHART FOR BUCK

ATTACHMENT TO

STRUCTURE

}77 O\\ ]
JAMB FASTENERS

MAXIMUM
COUNTERSINK IF NEEDED.

OPENING
HEIGHT

SPACING

o

OPENING
WIDTH

JAMB ATTACHMENT

JAMB ATTACHMENT NOTES

1. MAXIMUM POSITIVE LOAD PER JAMB = (18'-2" X 23.2 PSF) /2 = 211 LBS PER FOOT

2. MAXIMUM NEGATIVE LOAD PER JAMB = (18'-2" X -30.7 PSF) / 2 = 279 LBS PER FOOT.

3. DESIGN OF THE SUPPORTING STRUCTURE SHALL BE THE SOLE RESPONSIBLITY OF
THE BUILDING DESIGNER AND SHALL BE DESIGNED FOR THE JAMB LOADS LISTED IN
NOTES 1 AND 2.

4. ALTERNATE JAMB ATTACHMENTS MAY BE USED IF APPROVED BY A REGISTERED PROFESSIONAL
ENGINEER.

5. DASMA TECHNICAL DATA SHEET TDS-161 MAY BE USED FOR ALTERNATE JAMB ATTACHMENTS.

6. 3/8" DIAMETER LAG SCREWS REQUIRED 1/16" PILOT HOLE AND 1-1/2" MINIMUM EDGE DISTANCE.

2X6 ATTACHMENT TO STRUCTURE
MINIMUM MINIMUM ON DIMENSION A | ALLOWABLE
STRTufF;rEURE FASTENER TYPE El\/’\I/IBlgllgAl\;JI’EMNT EDGE CENTER (MAXIMUM ON TENSION
DISTANCE SPACING CENTER SPACING) LOAD
1/4" TAPCON+ (PLUS) " " N
2500 PSI MIN. CONCRETE WITH 1-1/8' OD WASHER 2 25 6 24 691
3/8" X 3" LAG " " " "
SOUTHERN PINE WITH 1-1/8" OD WASHER 1.50 1.50 1.50 24 655
3/8" X 3" LAG " " " N
SPRUCE PINE FIR WITH 1-1/8" OD WASHER 1.50 1.50 1.50 24 482
scALE: NONE TTE SPEC, WIND LOAD
DRAWN BY: G.WEDEKIND IRVANV @ﬁ STEELFORM 26 GA,

CHECKED BY: GW 24 GA, 20 GA.

GARAGE DOORS

BOX 448EAST RIVER ROAD
DIXON, ILL. 61021

DATE: 03/12/12

NO. P'2405 SHEET

DESCRIPTION ECN. NO. DATE ECN.NO.: 6338.01

4 oF 4

REV




		2017-10-09T17:22:36-0600
	Scott A Brown, PE


		2017-10-09T17:23:10-0600
	Scott A Brown, PE


		2017-10-09T17:23:41-0600
	Scott A Brown, PE


		2017-10-09T17:24:32-0600
	Scott A Brown, PE


		2017-10-09T17:25:07-0600
	Scott A Brown, PE


		2017-10-09T17:25:49-0600
	Scott A Brown, PE


		2017-10-09T17:26:54-0600
	Scott A Brown, PE


		2017-10-09T17:28:29-0600
	Scott A Brown, PE




